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How can you solve this?
· Show all your working and do not cross/rub out if it’s wrong-it’s all part of the solution.
· If you make a mistake, try again!
· You may want to draw a number line as Martin has to get to the ground floor but may have to go past it first and then back down! (big clue).
· Extension-is there more than one way for him to do it?
· Which is the longest/shortest route?
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Negative Numbers

1. This office block goes from floor -20 fo floor 50. Martin s on floor -16 and needs to
get fo the ground floor (0). However, the lift s faulty and will only ascend or descend in
multiples of 3 or 7.

ground floor

floor -20
How many different ways can the lift fravel o reach the ground floor?





